1.

th& 134 AB, CD, EF 7} A2 Hast

mn
Al \B
37 \\
\\\
1
C
T

=

,

b}
D

\
\

\

\\\7//1

\

\_9—,/

AN
-

/rﬂ—__

x9] g Foteler



o2 -8 L f/m [fn D W, xO] FH2?
N 1,

12 0 2
m

\\\ g
S An
36 17 15
o @ 5 ® 7 ®



3. o& I ol F Aol BAJ A A L, m, n IR 0, x 9

e

A\ !

7 %

\

! /
m

] !

/8 16&

n

/



4. o+ 1914 AD//EF//BC ¢ ©, BF o] Zol&?

@ 7cm @ 8cm ® 9cm @ 10cm ® 1lcm



o} 2ol AD //EF //BC & o, x +y o] & Fotodal,

/’75\\D
E/S TN\F
7\\?/——” 4
] \
B\\\‘_14___,’//C



@ 7.lcm

@ 7.4cm

® 7.3cm



7.

v+ 294 AD//EF//BC ¢ |, DF : FC 9] =7

A -6cm~_D




8. DABCD|4 AD//BC©|il 2AE = BE, AD = 6cm , BC = 15c¢cm
o o, MN o] Zo]=?

A 6cm

@ 1lem @ 2cm @ 3cm @ 4cm ® 5cm



)

th& 193 Zo] Altte]E ABCD o] tiZHde] i F & A A
AD//EG//BC 7} FI=5 A4 0] 2 Atk Bke] n e 242

= e EYal EG _
E, G 211 312} AD = 15cm,BC = 3cm ¢ W], ——— & 45
a__l_ ]']' cm cm & AD+BC __,L].
o2},
_--1sem~ _ _
AC ~D
E G
B3(:n§3



10. AD//BC ¢ Att}a]Z ABCD oAl AOAD = 15cm? € ©, AODC
o] Yo|& L5HH?

_-10cm-~ _

A D

@ 7cm? @ 10cm? ® 14cm?

@ 20cm? ® 2lcm?



11. o 294 AB//EF//CD € ™, x +y 2] Zo]=?

A
/
D
6 g P
|\ 43 3
B‘\\\\ _”F///C
~~10--~
22 23 24 96
@ 5 @ 5 ® 5 @ 3



12. thg 1o)4 AB, PQ, DC7} 217} BOo} 44
,DC=bd o], PQ 9] AOJE q, boll T 402 LyeEfHA?
D
\
A \
\
J P b
¢ /
\ /
B Q C
a+b ab b-a 2a ab
@ ® a+b a+b a+b




13. o2 I"™A aPBC 2] Hol&? _-Mem-.

16cm
\ P
~8cm~ D
447 448
@ ﬁch @ icm2 ©) %cnﬁ
500
@ — cm? ® @CmQ



14. ©}& 1o)X DE, EF , FD Zol4 sABC 9| o] Baigh 4|
Zolg Fatofet,




15. ok WYPAAFP ABCD o] | AD 919] H E
ot H3H B £ ol Aol a4 AC ¢+ A
F oA ¥} AF = 4cm, CF = 6¢cm, BC =
9em ot A AE ] Zo]g Fstoiet.

a = cm



Q

APAE ABCD ol AB ¢} DF ] @413

Y

flo



17. o+ a8 a /b Jle //d R, x+y+z 2 ZHe?

N /g
z | /
\/ Mo 5
30/ \a7
&g Zo AV
I/ \

O 35 @ 38 ® 40 @ 43 ® 45



18.




19. o ag3 e Althe]E ABCD ©lA4 AD //EF /BC ©]1l, AE =
4, EB=3, m+n=22¢ 1, m 2] 3t2?

@ 6 @7 ® 8 @ 9 ® 10



20. i% Y3 2ol AB//EF//CD©]i AB = 4cm , BF = 3cm
CD = 8cm , /DCF = 90° 2} & wf, oEFCD 9] Y o|=?

D
\
\\

A 8|crn
den !
\ !
\ /
B3eniF C

@ 20cm? @ 24cm? @ 32cm?

@ 36cm? ® 40cm?



21.

e
=9

oA AB//EF /DCe] AB: CD = 4: 1< o), EF : AB

A




